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QUESTION 1

Why is the following SQL INCORRECT? 

A. There is more than one base table in the FROM clause. 

B. The WHERE clause is used. 

C. The ORDER BY clause has DESC specified. 

D. All of the above. 

Correct Answer: D 

 

QUESTION 2

In a TwinFin 12, what does the number ?2?refer to? 

A. The number of FPGAs (not cores) used. 

B. The number of Snippet Processors. 

C. The number of S-Blades. 

D. The amount of memory per blade, in GB. 

Correct Answer: C 

 

QUESTION 3
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Which of the following methods does Netezza use to ensure data integrity and availability? 

A. Replication and Regeneration. 

B. Replication, Regeneration, and Failover. 

C. Regeneration and Failover. 

D. All of them. 

Correct Answer: B 

 

QUESTION 4

Data decompression is done in what component of the Netezza architecture? 

A. CPU 

B. SPU 

C. FPGA 

D. RAM 

Correct Answer: C 

 

QUESTION 5

Which of the following options best completes the following statement? The physical order that data is loaded into a
table the initial zone mapping effectiveness. 

A. determines 

B. does not impact 

C. slightly influences D. is one of many influences in 

Correct Answer: A 
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